In The Party [ ANsweR sHEET

The total price can be found by multiplying the number of items
by the cost. Answer the questions below and show your work.

1. Erika is ordering cupcakes for her party. One cupcake costs $3. There will be 20 guests
at the party, and she wants each guest to get one cupcake. How much will she spend on cupcakes?

° 20 x 3 =60

117/ She will spend $60 on cupcakes.

2. James bought 30 cans of soda. Each can costs $0.50. How much did he pay?

e 30x0.50=15
He paid $15 for the soda cans.

3. A teacher bought 25 hotdogs for his students. Each one costs $4. How much did the teacher pay?

% 25 x 4 =100

@ The teacher paid $100 for the hotdogs.

Challenge

Jillian ordered sushi for the party. The egg sushi costs $1 each. She ordered 20 of them.
The salmon sushi costs $2 each. She ordered 30 of them. The tuna roll costs $0.50 each.
She ordered 50 of them. How much in total did she pay?

Egg sushi 20 x 1 =20

o @ Salmon sushi 30 x 2 =60

% Tuna roll 50 x 0.50 = 25
Total cost $20 + $60 + $25 = $105
She paid $105 in total.
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